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A principal of BD 900 invested at 11% .10
annually, How long would it take to make the
* ?amount to BD 2074.084

(i 2)

years 5 O
years 10 ()
years 20 ()

years 8 ()

RS
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BD 168750 ()

BD 9124.897 ()

if the interest rate is 12%Annually and the .5
time is 4 years, find the number of period if

* .the interest is compounded quarterly
(dass 1)

isla) Jaoi

What is the compound interest on $ 3000 .6
invested for 4 years at 6% annually

* ?compounded semi-annually
(dass 1)

1564.654 $ ()
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BD 8900 ()

BD 6542 ()

Find the principal if the compound amount .9
after 5 years is BD2938.656 and the

* .compound interest rate is 8% annually
(5 2)

disla) Jaul

A principal of BD 900 invested at 11% .10
annually, How long would it take to make the
* ?2amount to BD 2074.084

(tais 2)

years 5 ()



oo Vel % Zain BH .

8 forms.office.com AA

b proe

RCTRRTPON

sllas *

Questions
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Find the Compound Amount on BD7500 at .4

*.4%2% annually for 5 years
(dass 1)

BD 9346.364 ()
BD 5648.258 ()
BD 168750 ()

BD 9124.897 ()
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Taha calculated the compound interest he .8
will get BD4836.66 if he deposited his money
in a bank at 3% annually for 20 years. Find

* the principal

(15 1)

BD 6000 ()
BD 4836.66 ()
BD 8900 ()

BD 6542 ()

Find the principal if the compound amount.9
after 5 years is BD2938.656 and the



